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.RSHUDVL�EXQJDL�7HUDWDL�.3�%7�&HUPH�DGDODK�NRSHUDVL�EDUX�\DQJ�EDUX�

± EDUX�LQL�GL�UHVPLNDQ�GDQ�PHPLOLNL�XQLW�XVDKD�\DLWX�8QLW�6LPSDQ�3LQMDP�GDQ�

8QLW�7RNR� .3�%7�&HUPH�LQL�VHQGLUL�SDGD�8QLW�7RNR GDSDW�GLNDWDNDQ�PDVLK�

EHOXP�EHUNHPEDQJ�GLNDUHQDNDQ�WDUJHW�SDVDU�GDUL�8QLW�7RNR�EXNDQ�KDQ\D�XQWXN�

DQJJRWD�VHKLQJJD�PHQ\HEDENDQ�SHUVDLQJDQ�8QLW�7RNR�VHPDNLQ�WLQJJL�WHUKDGDS�

NRPSHWLWRUQ\D��VDODK�VDWX�FDUD�XQWXN�ELVD�PHQGDSDWNDQ�NHXQJJXODQ�EHUVDLQJ�

GDQ� EHUWDKDQ� GDODP� SHUVDLQJDQ� \DQJ� NHWDW� WHUVHEXW� DGDODK� GHQJDQ� FRVW�

UHGXFWLRQ�GDQ�GLIIHUHQWLDWLRQ��6DODK� VDWX�KDO� \DQJ�ELVD�GLODNXNDQ�XQWXN� FRVW�

UHGXFWLRQ� DGDODK� GHQJDQ�PHQHUDSNDQ� WHNQRORJL� LQIRUPDVL�� QDPXQ� EHEHUDSD�

6LWHP� ,QIRUPDVL� GDQ� 7HNQRORJL� ,QIRUPDVL� \DQJ� DGD� EHOXP� VHSHQXKQ\D�

PHQGXNXQJ�WXMXDQ�ELVQLV�SHUXVDKDDQ�WHUXWDPD�GDODP�PHQLQJNDWNDQ�SHQMXDODQ�

3HUPDVDODKDQ� 6,�7,� ODLQ� \DQJ� VHGDQJ� GLKDGDSL� .3�%7� &HUPH� DGDODK�

NXUDQJQ\D� VXPEHUGD\D�PDQXVLD� \DQJ� SDKDP� GHQJDQ� ,7�� VHUWD� WLGDN� DGDQ\D�

ZHEVLWH�\DQJ�GLKDUDSNDQ�PDPSX�XQWXN�PHQLQJNDWNDQ�SURPRVL�GDQ�SHQMXDODQ��

2OHK� NDUHQD� LWX� XQLW� WRNR� SHUOX� PHPLOLNL� SHUHQFDQDDQ� VWUDWHJL� XQWXN� GDSDW�

PHQLQJNDWNDQ�GD\D�VDLQJQ\D�WHUXWDPD�GDUL�VLVL�VLVWHP�LQIRUPDVL�GDQ�WHNQRORJL�

LQIRUPDVL��'HQJDQ�GLODNXNDQQ\D�REVHUYDVL��ZDZDQFDUD��GDQ�DQDOLVLV�GRNXPHQ�

\DQJ�EHUNDLWDQ�GHQJDQ�6,�7,�\DQJ�GLPLOLNL��8QWXN�PHPEXDW�EHEHUDSD�DQDOLVLV�

VHSHUWL� &6)� $QDO\VLV�� 9DOXH� &KDLQ� $QDO\VLV�� )LYH� )RUFH� 0RGHO� $QDO\VLV��

6:27�$QDO\VLV��$QDOLVLV�,7�%DODQFHG�6FRUHFDUG�GDQ�MXJD�SHPHWDDQ�SRUWRIROLR�

DSOLNDVL�GHQJDQ�6WUDWHJLF�0F)DUODQ�$QDO\VLV�

.DWD� NXQFL��6RIW� 6NLOO� 6XPEHU�'D\D�0DQXVLD�� 3HPDQIDDWDQ� 7HNQRORJL� ,QIRUPDVL��
6WUDWHJL�$QDOLVLV��SRWRIROLR�DSOLNDVL
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$%675$&7

7KH�/RWXV�)ORZHU�&RRSHUDWLYH�.3�%7�&HUPH�LV�D�QHZ�FRRSHUDWLYH�WKDW�

ZDV�UHFHQWO\�LQDXJXUDWHG�DQG�KDV�EXVLQHVV�XQLWV��QDPHO\�6DYLQJV�DQG�/RDQV�

8QLW�DQG�6WRUH�8QLW��.3�%7�&HUPH�LWVHOI�LQ�8QLW�6WRUHV�FDQ�EH�VDLG�WR�EH�VWLOO�

XQGHUGHYHORSHG� EHFDXVH� WKH� WDUJHW� PDUNHW� RI� 8QLW� 6WRUHV� LV� QRW� RQO\� IRU�

PHPEHUV�� FDXVLQJ� WKH� 8QLW� 6WRUH� FRPSHWLWLRQ� WR� EH� KLJKHU� DJDLQVW� LWV�

FRPSHWLWRUV��RQH�ZD\�WR�JHW�D�FRPSHWLWLYH�DGYDQWDJH�DQG�VXUYLYH�LQ�WKH�ILHUFH�

FRPSHWLWLRQ�LV�ZLWK�FRVW�UHGXFWLRQ�DQG�GLIIHUHQWLDWLRQ��2QH�RI�WKH�WKLQJV�WKDW�

FDQ�EH�GRQH�IRU�FRVW�UHGXFWLRQ�LV�WR�DSSO\�LQIRUPDWLRQ�WHFKQRORJ\��EXW�VRPH�

H[LVWLQJ� ,QIRUPDWLRQ� DQG� ,QIRUPDWLRQ� 7HFKQRORJ\� V\VWHPV� KDYH� QRW� IXOO\�

VXSSRUWHG� WKH�FRPSDQ\
V�EXVLQHVV�REMHFWLYHV�� HVSHFLDOO\� LQ LQFUHDVLQJ� VDOHV��

$QRWKHU� ,6�,7� SUREOHP� EHLQJ� IDFHG� E\� .3�%7� &HUPH� LV� WKH� ODFN� RI� KXPDQ�

UHVRXUFHV�ZKR�XQGHUVWDQG�,7��DQG�WKH�DEVHQFH�RI�D�ZHEVLWH�WKDW�LV�H[SHFWHG�WR�

EH�DEOH�WR�LQFUHDVH�SURPRWLRQ�DQG�VDOHV��7KHUHIRUH��WKH�VWRUH�XQLW�QHHGV�WR�KDYH�

D�VWUDWHJLF�SODQ�WR�EH�DEOH�WR�LQFUHDVH�LWV�FRPSHWLWLYHQHVV��HVSHFLDOO\�LQ�WHUPV�

RI� LQIRUPDWLRQ� V\VWHPV� DQG� LQIRUPDWLRQ� WHFKQRORJ\�� %\� GRLQJ� REVHUYDWLRQV��

LQWHUYLHZV��DQG�DQDO\VLV�RI�GRFXPHQWV�UHODWHG�WR�,6�,7�RZQHG��7R�PDNH�VHYHUDO�

DQDO\]HV� VXFK� DV� &6)� $QDO\VLV�� 9DOXH� &KDLQ� $QDO\VLV�� )LYH� )RUFH� 0RGHO�

$QDO\VLV�� 6:27� $QDO\VLV�� ,7� %DODQFHG� 6FRUHFDUG� $QDO\VLV� DQG� DOVR�

DSSOLFDWLRQ�SRUWIROLR�PDSSLQJ�ZLWK�6WUDWHJLF�0F)DUODQ�$QDO\VLV�

.H\ZRUGV� 6RIW� 6NLOOV� LQ� +XPDQ� 5HVRXUFHV�� 8WLOL]DWLRQ� RI� ,QIRUPDWLRQ�

7HFKQRORJ\��6WUDWHJ\�$QDO\VLV��DSSOLFDWLRQ�SRUWIROLR


